IHSAA GOLF TOURNAMENT - ELECTRONIC SCORESHEET  [BOX 1] Teams Scoring Summary [BOX 2]
Date: June 1, 2012 Boys: X Place School Score
Host School Southport High School Girls: T 1 Park Tudor 317
Course Heartland Crossing Golf Links Sectional: T 2 Lawrence Central 322
City: Camby, IN Regional: T 3 Roncalli 332
T 4 Heritage Christian 340
5 North Central 341
Overall Individual Scoring Summary [BOX 3] 6 Perry Meridian 345
Place Name School Score 7 Lawrence North 345
1 *Hall, Sam Heritage Christian 77 8 Southport 351 PURE SPIRIT. PURE SPORT.
2 Clark, Wil Park Tudor 77 9 Warren Central 371
3 Lorenzano, Michael Roncalli 77 10 Franklin Central 375
4 Crites, Kyle Lawrence Central 78 11 Decatur Central 377
5 Rogers, Tony Lawrence Central 78 12 Scecina Memorial 400
Indicate with double asterisk (**) when playoff determines winner. 13 Lutheran 413
14 Beech Grove 509
Individuals Advancing Without A Team Summary [BOX 4] 15
Place Name School Score 16
1 Hall, Sam Heritage Christian 77 17
2 Juerling, Jackson North Central 78 18
3 Windler, Dylan Perry Meridian 79 Indicate with asterisk (*) when fifth player's score
determines team's place.

Team

Hole #| 1 2 3 4 5 6 7 8 9 [ Out |20 11| 12| 13| 14| 15 16 | 17 | 18 In | Total Score
School Name Player Name Par 4 3] 51 4| 3 5[ 4 4] 4 36 5 3| 4| 5| 3| 4 4| 4] 4 36 72
Beech Grove Trebing, Mike 1 7 4 7 6 6] 14 7 6 5 62 7 4 5| 15 5 8 9 8 7 68| 130
Mathisen, Casey 2 7 6 9 7 6 6 8 6 5 60 6 4 41 10 4 7 9 7 8 591 119
Seward, Chad 3 7 5 9 8 3 8 8 7 9 64] 10 6 7 5 4 9 6 6 7 60| 124
Davis, Pete 4 11] 10 7 8 6] 101 10| 11 8 81 8 6 6 8 8 6 6 7 7 62| 143

Collins, Austyn 5 7 7 9 8 5 10 9] 11 6 72 7 6 6 7 7 7 7 9 8 64| 136 509
Decatur Central Balsano, Greg 1 5 3 5 5 4 6 8 6 6 48 5 4 6 6 4 6 5 5 6 47 95
Patterson, Shane 2 6 3 5 4 5 6 4 6 6 45 5 4 5 6 3 6 6 8 8 51 96
Bain, Josh 3 6 3 4 5 4 6 5 6 4 43 4 5 4 7 4 6 6 5 6 47 90
Knight, Zach 4 6 3 6 3 4 8 7 6 5 48 5 4 7 6 3 6 6 5 6 48 96

Evans, Andrew 5 6 7 5 5 5 7 6 6 8 55 5 4 4 5 3 7 5 5 5 43 98 377
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